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Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]
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Plot [’ ECopt’]
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Plot Sensor and FgRec Data
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Plot [['I", "lopt’], ['T, "Topt’], ['RH, 'RHopt'], [ ETcl’, 'optETcl’], 'LAI', ’optEtRate’]
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Plot [['setVlI ETcl’, 'setVI fgRec', 'setVI VN, 'sl|SetVI' ]]
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Plot [['PHC:b—0’, 'FVIPH:r—o', 'PHl:g—0o']]
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Plot [['FVOPH:r-o’, 'PHO:g—o’]]
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Trend plot forP3-7_0
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07:45 278 150.0 [Z=| {Ri%e07:45 Bz (REAERESE)
09:20 278 150.0 & =| 1Ri%@09:20 Bz (KRAHEREEE)
10:35 278 150.0 & =| 1Ri%@10:35 Bzh (KRAHERESE)
11:45 278 150.0 (& =| 1BRige11:45 Bzh (REERESE)
12:35 278 150.0 | =| 1Rige12:35 Bz (RBEREE)
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15:50 278 150.0 FH| 1Bi&e@15:50 Bzl (GRAEREE)
21t+]2502.0 (97%) 1350. 0 3203 KEC: 2080.0, PH: 5.7

##[EKECE (2080.0 vs 3253.0) RS
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P3-7
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2it]1390.0 (5%) 750.0 323 KEC: 2080.0, PH: 5.8

#H[EKRECE (2040.0 vs 3413.0) i d5
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